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where the object passed below 10 2°m9v from the ground of the
3"79, all agree that he is 21, because we say that %2 7w
"»T AW, that something contained in the airspace of a mw, is
as if it rests there.

Overview

The concept of %P, that when an object is contained in the airspace of
a MW" 1t 1s considered as if it is at rest there, 1s limited to a situation where
the object is completely surrounded by the airspace of the mwA, if however
someone is holding the object, then there is no concept of n17p, because it is
not completely enveloped and contained by the mwA, for the hand is
separating it from the mwA.

The X°¥2’X of 7727 whether everyone holds nY%p or not, is questioned.
Seemingly we find opinions that definitely hold that a 'T 21pn is required for
a anan.

"y w1792 yennws — when the object is in the hand of the "1, for instance
in the case where the "1y, extended his hand into the "7 and the n°277 5v2 placed an object
into the hand of the "1y

noan Yya W W — or when an object is in the hand of the 3"7v3, when he
extended it into the 1"7"

TuIPP 7w K9 — the concept of mwop is not applicable, that we should consider
the object that is in the hand of the *1y, for instance, when it is extended into the "7, to
be considered as if it rests in the >"717. This is not so —

175 TInh 2''wa Jnuws X7 — for when the 2'"7v2 places an object into his
hand (of the *1v) when it is extended into the "7

291 K% XX — and the "1y brought it out he is not 291, even though the
object was originally contained or 717 in the *"17, nevertheless since it was in the hand
of the °1v, there is no concept of .‘lm‘7|?.1

PR 11395 ;7o — the v'"'1 questions®
2P QW2 K7 XN12 2R — that if there is a Xnv"92 anywhere, that states

" maon does not explain why the concept of Nv9p does not apply. One explanation given is that V9P
applies only when the object is totally contained in the airspace of the mw, not when it is in someone’s
hand shielding it from the airspace of the mw~.

* There does not seem to be an apparent connection between what mavin said until now, with the s>
question (see MADIN YWIIN).
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"7 2R 923 Yy M J9waT — that a M7 is required to be only on a place
that is four by four omoY

Tme2 nxp yrwnta) — and as it is partially indicated further in the X3, that
there is such a ¥n»"2

NO77 29RO KT K97 029 KT — that X997 '3 said when trying to answer
how come in the 71wn one is 21 when he placed the object on the hand,
since there is no 1137 on a "7 @P», on this 87’1 " said that the 71wn follows
the opinion of 23R, who say that a '7 01p» is not required for a 7M. X7 '3 goes on
to quote this Xn»72 that states that 2°3nX do not require a '7 1P

9P J339 93997 yrwn — this would indicate, since the Xn>12 quotes this
ruling only in the name of 2 7R, that the 3339 argue on this ruling of o> nx.
And they maintain that a '7 21p» is required for a 7r37.

mooIn is assuming that there is more to the Xn»72 than only the opinion of 2°7nX, there
must also be the opinion of the 1127, who argue with a>nx, for if all agree with 2°nX,
there would be no need to say that this is the opinion only of 271X, since everyone
agrees, therefore we can surmise that the Xn»12 also contains the opinion of the 3127 who
argue with 071X and maintain that a '7 23p» is required. It is just that X7°1 "3 did not quote
that part of the Xn>12 (the opinion of the 7127) since it is irrelevant to his point. Now that
we presume that there is a X072 that states that a '7 217 is required, so the >"7 asks:

12 &N — if this is so that there is an opinion in a Xn>>72 that a "7 2P is required

251 Ho77 927 N37 mRp 92%7 — how can we say here in our X3 that
everyone agrees that a "»n 7un? 1"77 777 °"7% "7 P is 2997, because of
7019p, so we don’t need a '7 D1,

1% RNM2 R 19 aR — if this is so that everyone agrees that a '7 23p» in not
required, then that Xnss92 that says that the 37127 argue with 2°9nX, and
maintain that a '7 2p» is required, who will it be in agreement with, since we are
saying here that everyone agrees to 0%, meaning that everyone holds that a "7 21pn is
not required, when the 7127 in the Xn>>72 of 271X contend that it is required?!

mooIn question is, how did 7127 entertain the option that everyone, both ¥"7 and the 7129
hold that a '7 017 is not required, when we presume to know that there is an opinion in a
Xn»12 that a '7 opn is required. So therefore 7127 should not have chosen this option,
when explaining the npY?nn between ¥"1 and the 3327, and 127 indeed has another option
how to explain the npmnn, so why entertain this option when it poses a problem. Mso1n
answers:

7% WP R9T 8T - and it appears to Moo that there is no difficulty at
all

PPRSINRD 327 R2PY 939 TRy — that 7729 should reconcile ¥''9 and the
1321 like our /W, which presumably holds that a '7 297 is not required, since one is
21 if he makes the 7m37 on the hand which does not have a '7 D2,

Rn™12 X772 X9 — and not reconcile our 13127 with the 7127 of that Xnv3,
who say that a '7 0pn is required. What advantage is there in doing this? Seemingly we
are contradicting these 7127 with those 11277 Nevertheless this still is preferred
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NnbY 99125 "ann 7oRpna o0 8T - for it is preferable for 727 to reconcile

our mw» according to everyone’, i.e. Both "1 and the 1327.

It is preferable that a 71wn should be in agreement with a majority of opinions, rather than
just one opinion, ¥"7 in this case. Therefore 7127 entertained the option that both ¥"9 and
the 1327 hold of nvY%p, thereby not requiring a '7 23pn, even though this option causes the
difficulty of not reconciling the 1127 of ¥"9 with the 13127 of 271X, because on the other
hand we gain that our 71w» would be a majority opinion.

? It will necessary to interpret the term 2»n Y21 »127, in a narrow sense referring to 17 ¥ of our NPY9NN,
not a universal 551 >27, for the 327 of ©>INN presumably argue with this 551 27



